| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

n o
N = o
£
e
0 & <
e s
3
o ]
= O |x o
= e —
EY [To) >
H
8
o = o
2
o g
I K]
o €
-1 @
! <
LD o
I e 8 o
| = o
o ° I
4N m
! 5
O ° o
N 4 i
| 8 I
c s 5
_3) o
N o
£
QL
0 & S
— O
]
o
=
B 2
LD
(=]
el
I
o
n
LD
i o
| N
o I
o
LD o
h £
5
n o
N = o
£
IS
0 5
— O
S
o —
— © N o
s |8 =
[t} g
£
(=) 8 o
S| =
9 Lo E
gl .
b — 'S |
fos I o
3 o g
=] = o
3 o |3 n_,_
30 X g
i 199 b 2 o
I AP TN TP H
2 IR -t o £ 5P
= S an 2 s
syoel) ani Q9] -
o
I
HOO
UL
b 0~ =)
N o
£
QL
0 & <
— O
3
(=]
S S
5 K
Lo
o o
..... i
o
s o
" g
..... n Il o
| @ N
o 5 I
N ol
I o
e | 2
01 5 ]
(=} Z (=}

syoen

syoen

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


